MidYeem exam | soluons

Problem |

Q. Y
T
M= 50 KN-m

4
i J %
|
| L
Ae——Y [ AL < _/‘__F___u’x Fo =20 ¥
\J
FAI / W = \6 wN
{, -.-Disj_ N MS = GOS

-~

> “Q'S\QQ‘\ facdian = F=0
26 R - N =0
G2 R - - W)+ (XR®+ (BN = 0

— N= R =

Fo= —90-35 + 30 + 50J3

XFQZ 5083 =15 ¥N

‘ S\p candikion - F = Ml

2% (- N F(Y =0
BF = BO=nIN = L —>  N={cF, = 26 N

Game SR m-wD T GRD + (BN + (Tras) = ¢

Fg:" -49 + 500 + 150
F@,: 195043 =15 wN




| ?‘F oib\%m \

C. ,
Q\‘\'Q‘W\ 0(\“\ Ve

\“; '\‘\' WoS  ASmed the \)o«‘ wWas 3\"\?9;“3 Jp The \“c\\v\g) The s\‘(‘ec\iov\ ok T
wauld \DQ eyersed Wy “he ‘YQQ-\M&\/ A\‘oﬁw‘o\m ()

Under Yy O\SS\\m(ﬂ‘\oY\ ,

S\\Q wndition.  F = Mg N
2R R N - FUR) =0
BF o= ROmIN= 2N — =g 200

CEMT SR - M- W) - GRYD+ (ENE - (Zun©) =0

= —uc . 0
Fo= -45 + R - 210

Fo= 3B -45 w




Peoblem X

Q.

N

N TN -
LRIl SR p—
)‘4—")"’[ ’

F=53-%FkK

/
E A

—n

DA™ Faxd t By + Bk

Lig)

= FQXL+ Fﬁ";’.+ F&ZK_

1=Ty,

—~0E T —?‘; N\‘gﬂm\ﬂ, Y-QE = EE—EO = 3\\5 —QL\J_*)\‘Q_\

5
m
]

JPHEN A} = agg

maments  abegt Qo'm‘\' A N= Coox T Car~E * X8 =Q

moment o\\ms axis AR /v\ﬁ
8

H
Lt
>
p.
3
"

e’ (‘:ﬂ"x 1\ * Ygg (“:m-‘ "E\ Wy (S\e.xi\,

R PO .Y, S S9-4y a2, 3.
ANy ) o NEREINIERS
Ya0 = 2
c

note ! Vas 19 Qava\\e\ Yo Tae S0 Yy (,YA&" ,FA =4

YLE& fosses ‘}\\\"c\)e}\ ads AR of & So Cveotes
MO mamedt abwt The oxis ’l



Prablem X
b. 2

- 2 A 3
/V\ - NE \r\§ O - \(—\’_'—E’, \Yﬁ Q O
o o 2 ol|l+|-a ¢ o |=
2y \ \
Rl ®' T 0 50 ~50J3

“whE-0] - 2LEm)-0) - Blenen®)-a - o

1 * Q3 - 3383 =0

T = 2353 b
Problem 3 500 L
| i Fre-50 = O
a. Jowt T — ZH x6 = 00 4
T Fro = 900 N ()
Fro
. Zh. F\-\l =0
00 KN
C. ROy >
¢ (2N F)- Hoo(a - 50004 = 0
Fa = 1100 xN
Fac,
c \‘)0'\\‘\‘\' A «-— FAS
1400 KN
Aﬁ »B ng
L:A oy &R Fac - W00 = O

{Fm = WM XN D




